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OO0OMaple00O0O0O0O0O0O0O0OCOOOOODODOOOOOOOOODOMathematica OO
00ooo00oUoo ;(0oo00)ooooooUOoooooooo
> 123456789+987654321;
1111111110
O00000000MathematicaOOOO0O*(D0OOO0O0OD)00000O0O
> 1428571428577 ;
999999999999
0o0oooloo00oo0o0ooOo0oUoD (oooooooo)o
> 1000!;
4023872600.....0000000000
000U0oo0oO0o? (D0O00D0DO0O0O0U0D -) 00000000 10000 DOOOO!NDO
0100 000D000000DOODOO00O00ODOOO0OO0ODOOOO 20 100000000
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> 27100;
1267650600228229401496703205376
0000000 0OO0OMaple0000OO0OOODOODOOODOOOOOOOOOOOI0 0000
0000000000000 000000000sqrt(x) 000000 xOOODOODOOOO
goooooooooooo
> sqrt(101);
720 sqrt (7)
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0000000000000 MapleODOOODOODOODOODOODODODOODOODOOOO
00000000000 0O0O00OO0O00O0OO00 O0OO0OOOleg(2) (200000)0000O0O
000000000000 (leg OO0 mMOOODOOOOOOOOOOO)O

> log(2);

In (2)
000000000000 000000O0000D00O00 (MathematicaOO NOOO)O
> evalf(%);
0.6931471806

O000evalf(x) 0 xOO0O00DO0O0O00 MapleDOOODOOOO 0000000000
00000000 UOO0evaf002000000000000000000000000O0
gooooooooooo

> evalf(log(2), 40);

0.6931471805599453094172321214581765680755

0000000 MapleOO PiOOD)0000 1000000000000000O0OOO
O ((@ooo)o

> evalf(Pi, 100);

3.1415926535.....5342117068

evalf 0 sqrt 0000 Maple 0000000000000 0OD0OODODOOOOOOOO Maple
9500 5s00000000C0COOOOOODODODOO
O0000On0O0000O000000 ithprime(n) 000000000000 OOOOO

> ithprime(303);

1999

2 0Oooo

gooooooobooooooooobon
>  2%a + 3%a;
Sa
0000000000000 expand DO ODODODO
> expand( (at+b)"5 );
a® +5a*b +10a3b? + 10 6?03 + 5 ab* + b°

0000000000 factord0OODOO

> factor( x"4+64 );

($2—4x+8)(x2+4x+8)

0000000000000 00000000000000000O0O0n int(expr,x) 00O
expr 000 xO0O000O00O0Odiff(expr,x) 00000000 simplify(expr) 00 expr 00O
goooooooboooo

> int( x"2*sin(x)"2, x );

22 (—1/2 cos (z)sin (z) + 1/2x) — 1/2z (cos (x))* + 1/4 cos (z)sin (z) + 1/4x — 1/323
> diff (%, x);



22 (—1/2 cos (x)sin (z) + 1/2z) + 22 (1/2 (sin (z))* — 1/2 (cos(:t))2+1/2)
—1/4 (cos (2))? + z cos (z) sin (z) — 1/4 (sin (z))? + 1/4 — 22
>  simplify(%);
22 (sin (z))?
000000000Osolve 00 0OOOMathematicaOOODOODO ==0000000OMaple
U0 =00000d
> solve( x°2 - 7*xx + 3%a =0, x );
7/24+1/2sqrt (49 — 12a), 7/2 — 1/2 sqrt (49 — 12 a)
00000000000 0O0OOdsolveDOOOOOOOOOO
> solve( {x"3+y~3=1, x+y=2}, {x,y} );
{y = RootOf (6-2% —12_Z + 7, label = _L1),
x = —RootOf (6_-Z> —12_Z + 7, label = _L1) + 2}
O0000O00ooO0obOoOoOMapleDO0OO0ODOOO0ODOOOOODOOOOODOODOOO
gboboooboobobooboboooboobobouooDooooooboboooobo oo
0000000 allvalues 000000 (D000 ¢s00000000000ODO)O
> allvalues(%);
{y=1+4+1/61isqrt (6) , 2 =1—1/64sqrt (6)},
{y=1-1/61isqrt (6),x =1+ 1/64sqrt (6)}
0000000 dsolve 000000 difi(y(x),xx) 0 y(x) D00D000000000000
ci,c20bopooogoo

> dsolve( diff(y(x),x,x) - kxy(x) = 1, y(x) );

y(z) = et R)e_Cp 4 e=sarth)e_op _ =1
gooooooobooood
> sum( 12, i=1..n );

1/3(n+1)°=1/2 (n+1)° +1/6n+1/6
goboboboboooboooboobog
>  factor (%) ;

1/6n(n+1)(2n+1)

3 2000000000

uboooobooooboooooooo

> plot(sin(x~2), x=-Pi..Pi);
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00 Mathematica OO0 OO00OOgnuplot 00000000000 0OOOOO (*.7) OO
goboooboooooobooooooooooboooobooboooobooboboOoo oooboo
000000000000000000000000000 ??plotloptions) 00000000

O0Oplot000O00OO0ODOOOOO??plot 00000000
> plot( sin(x"2), x=-Pi..Pi,
axes=BOXED, # U0 O OOOOQO
labels=["x", "sin(x"2)"], # OOOODOO
labeldirections=[HORIZONTAL, VERTICAL], # DO OOOOODOO
color=blue, # DO OOOOO
thickness=4 # U OUOOOO0O
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sin(x"2)

-0.2
70.4j
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-0.84

00 Maple 000000 200000000000000000000 plottoolsdOOOO
ooooooog

> with(plottools)

> with(plots)
00o0o0ooogooooooooogggoggggoooooooooooopooooo
pggdoooobbobbotoooooobbbboooooboboobooboooon



> smiley := ’PLOT’(
circle([0,0], 1), # 0O000O0O0
ellipse([ 0.2,0.1], 0.05, 0.1, filled=true, color=black), # OO
ellipse([-0.2,0.1], 0.05, 0.1, filled=true, color=black), # OO
arc([0,0], 0.7, -0.85%Pi..-0.15%Pi) # O
) .

> display(smiley, axes=NONE) ;

oooooad
> display(
seq(translate(scale(smiley, i, i), i"2, 0), i=1..5),
scaling=CONSTRAINED, axes=NONE
);

4 3000000000

JO0oboooboboobo2000000000000000DOO0000DOO0OODO0O0O0 z =sin

xyOoooooogd
Mathematica D 00000000 0OO0OO 30000000000O00OO0ODOOOOOOO

oooo
> plot3d( sin(x*y), x=-Pi..Pi, y=-Pi..Pi );



000000000000 00000000 (C0O0U0000)000000000numpoints

000000O0o0ooO(Uo0oooo2™2)0000ooooo
> plot3d( sin(x*y), x=-Pi..Pi, y=-Pi..Pi,
numpoints=40"2, # DO UO0OOOOO
scaling=CONSTRAINED # UUO0OUOOOODOOO
);
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2000000000000 0DO0O0O0O0OO0DOOOOOOODOO

> with(plottools)

0000000000 (7)0O00D00O0D0o0UoOOooOooDoOo
> girl := ’PLOT3D’(
sphere([0,0,0], 0.7), # O
cone([0,0,0], 1, -2), # O
rotate(cylinder([-1,0,-1], 0.2, 2), 0, Pi/2, 0) # OO
) .

oooooo
> display( girl, scaling=CONSTRAINED );
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with(plots) :

>
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animate( plot, [sin(n*x), x

>
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animate (

>

plot3d,

=0..2xPi, scaling

0..2%Pi, y

[sin(n*x)*sin(n*xy), x
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Maple 000 20 0000000000000 0O00O00ODOCDOOOODOOOOOOOODO
gbooobooboo

6.1 0OO0OOOO0

gboooobooooboboooboooooboooobooooboOoooooboon
Shift-Return 000000000000 0DOOCOO0OOCOO0O Return OODOOOODO

> data := [

> [0.05, 0.04],
> [0.10, 0.06],
> [0.15, 0.10],
> [0.20, 0.14],
> [0.25, 0.22],
> [0.30, 0.26],
> [0.35, 0.34],
> [0.40, 0.38],
> [0.45, 0.46],
> [0.50, 0.58],
> [0.55, 0.62],
> [0.60, 0.74],
> [0.65, 0.82],
> [0.70, 0.86],
> [0.75, 0.94],
> [0.80, 1.06],
> [0.85, 1.18],
> [0.90, 1.22],
> [0.95, 1.34],
> [1.00, 1.42]
> 1;

data :

[[0.05,0.04],

,[1.0,1.42]]
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6.2 ODUOOOOOODO

go0ooooo0oOooooo0oOoooDooOoobo0oOooobOoOooOoooDOpletOOoDO
oooo

> plot(data);

0.8+
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O00000000000D00O styleDOOODODOOOOthickness 000000000 Oscaling
ooboobooooboooo

> plot(data, style=POINT, thickness=3, scaling=CONSTRAINED);

0.84
0.6
0.4+

0.2+

T T T T T T T T
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0000000000000 000 graphl OOOODOODODOOO
> graphl := 7 :



6.3 U0 20000000

gogbooboobooboob 2000000000000 00000b00b000b 2
000000000000 O0stats 00000000 fit000000O00C0O0O0O0O0O00O00
gbooog

> with(stats)
000000000 00DDOO0DO0O0D0O00 Transpose 0O0O0D0O0ODOO listTools OO
gooooooooono

> with(ListTools)
000000 f00000000000000 foOO0O0O0oOoOoo0Ooonoo
> unassign(’f’);
20000000000000DOO0O0000O
> fit[leastsquare[[x,y], y=a*x"2+b*x+c]] (Transpose(data));
y = 0.5974025974 2% + 0.8822009569 2 — 0.03847368421

00000000000 0oOoonD f000000000x00000 expO xOOOOO
00000000 UOunapply(exp, x) DOOOOOO

> f := unapply(zhs(%), x);
f = z — 0.5974025974 22 + 0.8822009569 2 — 0.03847368421

6.4 0OUOOOOOODO

000O0ooOooooooono plot DO0OD0OODOOO
> plot(f(x), x=0..1);

0.8
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oooooOoOOoooOoOooOOOODO graph20000000O0DO
> graph2 := 7 :

200000 graphl O graph2 00000000000 display 000000
> display(graphl, graph2);



6.5 OUggn

20000000000 000DOD0O0O0
> add( (f(datali,1]) - data[i,2])"2, i=1.. nops(data) );
0.009196049195
000 add(xi,i=m.n ) 0000 i0 m0O00 n000000000 xi0OO0O0O0OO0O0ODOOOO

O nops(data) 0 data 00 0000000000000 000O0O0OO datali,]]0 1000000
00 x0000 datali,2| 0 yOOOOOOOOOOOOO
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